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1. Setup
- MENU- or MENU+ HEZ FEHM Setup ModeZ %I
- MENU-, MENU+ HE&  : Setup &= #3Z
- DOWN, UP HHE : &= 4f B4
- ENTER HE MEStD LR 7|
FND 9L e
P1 0~ 255 | N0l D Setdts & (2=t @ 250)
p2 0~ 255 | &HEOl ¥22 Jt= & (D1=28F : 150)
P3 0~255 | HI2 2HAl & (2123t : 120)
P4 0~255 | EHRHOZ ZAAl HEtg = p2 & (2122 : 30)
P5 | 0~255 | A8 O2 XAl HEtG = P3 8 (D=2t ¢ 30)
100% &= & == 314 - FEO et 100% 22 S20000f7
B1 0 ~ 255
(D122t : 0)
DT | 0~ 255 | UCHSIONAl DI BHZAIZE (D122 © 0)
T1 10 ~ 255 | 1HIY AI2E (D128 : 20 sec)
T2 0~ 255 |0ty = EHYEY = AlIZ2H &3 1/100 sec
T3 5 ~25 | A0 D HH Set=E A2 &3 sec
T6 20 ~ 100 | Dip 2&H & A = GIZHAN ZX AlZ2H &3
T7 | 0~ 255 | P4, P52 HHBIEl B2 @ =2t SXIGH=JFH(1/400% JI=) (JI=225)
CN 0~100 | 210 &S Clear &%
2. 7Y A ME g
TOI0| 09 AEHOIM 7|EH0f| testHEZS F£210 ZO|AEZ 0|50 &
St XS MEgLCH MEE XEZ2 7|EL2 A Zo=Z S0{QH
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DIP1 - 47§ &tE|

T 2 1 3 | 2
OFF
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OFF
=
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OFF
=
oA i
DIP2 - 87i&tE|
1 2 3 4 5 6 7 8
OFF
=
oIAE o
OFF
=
DIAE o
OFF OFF
Dermo Sound =5 =i pray ON
OFF
=
A i
A =
L ﬁ_’jﬁ'— =cllol OFF
mE AHlA o
He m= | Abls_ =dol N
H=28 s
OFF
=
oIAE o
3002 OFF | OFF
500! ON | OFF
o
NErEE oo0a OFF | ON
300 ON ON
0| 823a0 LE Play 3=
13 2 3002 5002 10008
300 13] - -
500& 23| 13l -
1,000& 43| 23] 13l
5,000 203 123] 63|
10,000 403) 243| 123]




